CBCHR R b ) 5 R R fift R 1Y 2024 2 A I
“=ZB R REI) A ZEK o)
FEBOLALFSTHREE 54+ F 266112)

U B1 o F$% ﬁ%x”ﬂ%ﬁ%ﬁ - N
osere ;kﬁ*wﬁg j B A e I+ 1) 4 5 +1> WREI (b, ) BORT n
g SR, RO AR Ewmﬂﬂ*iﬁllff%;‘\‘lﬂ%ﬁﬂa‘%ﬁ— TR AT SRS b, :ln"+1_~_7(if 1 )
RIS A7 I R 80 BT R A 2 B 4 noo B

o n—+1 1/1 1 1
B Ak XA AT A n S )=

[XEBIRY & FPHF;FHH)RF X w1 ) 1

FEE B EL R B R0 R S8 2 L 5 — 2, IR0 BIER In = <§(;+n+ﬁ
FRVREAIE L 168 2 3 190 10 0 JEL B+ 55—, Q0 3088 F o RS

Wax = —1+ > 1

5 Ho A /AN L TT L A/ R B 055 R S O i n
ATV 55 = A A5 1 52 EE IR B AT 9 9T 460 MAGEES Ine < (e — L) o > 1))
B RS2 1 109 B AR 3 5 0 D R P 0. A 2o
SO R HERL 13T 45 V3 40 4B 5 0 B ﬁ%u>mmgwxﬁawz;
Fy i A58 1 1

B EREEAN WA Ine < 5 (r =) @ =,

TEUE I B I sl R eI 2 B AN SR R WO ALY o — 1 B R,
T2 5 GR AR A B 1L AT B T L L A B 5 8 ) .
51 o300 5 T B L 22 3 2 B9 3010 K/l e . I Bibl I < (= =) (o > 1

JH 1 S5 S A R A, SC B R A ] I W S T B2 L A
fh 22 2 A0 BT, A ) ) R O i s S
A BTN A T B TE n BT [ AR

B EsmE s if(l)—ln1—7+2a(a€

R), KT 5 = .
(D) FAE[, +o0) EREX f(x) <ar+11
ML, EHhK a BRI E;

. . 1
(2) &#n €N’ ,iiﬂﬂﬁ:%?ﬁ:ln(n+l)<l+?

1 1 n
+€+‘”+;72(71+1)'

BT (D WIRITEI |+ )
(2) FAEAUS N

In(n +1) +

1 1 1
T <ty

. 32 .

1/1 1
M ln(n+1)—lnn<?<;+n+l) ,

1 1 1
Inn —In(n — 1) < ?<m+;) ,

Ll EARER R, 58 1n(n+1)<1+ +

1 1
§++; +1),Tfrit1ale

B2 FAKIEBEEME

BN Dby — b s Bk 14 e KR, ) o 08 o 1 25
R 5T P A0 S8 . ek Y — A E A RO
PAE L AT 5T B8 A T A T 1T ATl i R K8
BEAT SRR 5E, e BB A W) B e 5990 BN 1 B9
P B AT L.



2024 4E 2 ] |k

ik R 15

CHCI K ) i i

B2 FEK ()= — D> +blnx,EFob
7@?%&»*%7“@] 7] A4 .
(D &% f(x) £ LB oy EiAM,

(2) miﬂxrz\;—z+%+ +niz< InCr +
D(n = 3.1 EN°).

BT (DD %5 = W f (o) £, +00) |
PRI 3 1

@%0<b <% i, £ () ﬁ(oﬂ) :

Giiéiﬁn+mﬂiﬁﬁﬁ%,

T1f¢;?ﬁg+ngﬁji$ﬁﬁm;

1
@%b<0ﬁ¢u»ﬁ@£i1%:@jiﬁ
ﬁ@ﬁ%dki%:ﬁa+aﬁiﬁﬁﬁﬁ.
- 1.1 1
(2)1&[],, :74‘*2—’—"’—*7*11’1(7’1—’—1)0,
3 4 n-

b, :%—ln4<0.

Mn=3Hn &N H,

1 n-+2
by —b, = — :
T T G DR a4l
v _mF2 1 3}
B n—+1 1+n+16(1’4 ’

giﬁ[ﬁ b,,+1 7/7,, <Oy
HEEJEH (x — 1" — lnx < 0.
Bo =— 1, W (1) 7 A6t fx) #

@Péﬁjiﬁﬁ@m.

1+4/3
2

f(z)=(x — 1" —Inx < f(1) =0,

T b, —b, << 0 BT RIS (b, ) B3 33 i

b, < b; <0, NEFEXIGIUE.

B3 IS

B0H T 4 1Y) R 2 AR T 8 0 LY A, H RO [ Y

5 . 5
i < .Eﬂi[xe(mﬂ i

J2  JH BB T EEE T LK H9 R 2 Y B
1 55 B 22 LAY 2 SN A PRI HE AT LR R B HLL ot
3l ] UK Ko A 45 5 B 0 0 AT i 4 L 4R E — A
A AP AN A L SR AE P R ], HLAE T R
KA BT,

Inx

(D FAERWE, +oo) ERFEXEbr = (1)
SR L, R kAL E ;

... In2  In3 Inn 1
FaE. 42 =
(2) KAk, Y + 3 + e+ i <2e'
P e N 1
BT () BBk IR | o)
(2) Bk == D gt <
Z2e x Z2e
pinr Lo Loy,
x 2¢ z°
NHARNY + =20,
E N B
x? z(x—1) x—1 =z’
Inx 1 1 1
Il R — )=
J\Jx" <26 <1'—1 1?>(x/2)
Inn 1 1 1
Mﬁﬁﬁ?<27e.<n*l_;>’
In(n — 1) 1 ( 1 )
(n—1D* 2 \n—2 n—1/"
In2 1 1 1
e g
. P L In2 | In3 Inn
[J\J:Z:gfit%%jjﬂﬂ1?f?+3ﬁ++f<
n
1 e o A
— AN AR,
Z2e
ghiE

BT SR B R R O 1 =
SR A 2 O 01 1 S 7 BB
L7 0O AR o 52 10 B9 R 5 7R
Al 7 3 L 18— I 06 2 50 H s 19D
BN A8 B 5 B 254 52 0 AL 2 A A
(0 o RS A 0 Y0 AT B8 5 2728 050
£ H IR

¢ 33



